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Day 2: Factoring Review and Solving For Zeroes Algebraically

Warm-Up: Factor the following

L+ 13x+40 2. x4+ 8x + 12 L 3x245x—6 4, xP-5x%— 14
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Day 2: Solving Quadratics Algebraically

Review from CCML:
Graph the equation y = x% + 13x + 40 on your calculator.

R
Use your calculator to find the zeroes: x = g and x =

From the warm-up, the factors of y = x? + 13x + 40 are (x+5)(x+8).

Set each factor equal to zero and solve for x.

x+5=0 x+8=0

xz =5 x= ~F

What do you notice about your answers and the zeroes you found earlier on your calculator?
”!(\“\,Q\.J) ﬁM{Q@- ’%L\Q.. SG‘\ YW CL,;»*

Summary: To solve a quadratic with your calculator
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To solve a quadratic algebraically (this is new) ~ w«dbaler for ‘,}Qggg
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Enter the equation into "y =" and use the “ze;ggg ion. (You did this in CCM1)
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1) Set the equation equal to zero
2) Factor the equation
3) Set each factor equal o zero and solve

Example: Solve x? + 8x = -12
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Practice - Solve each quadratic algebraically. Check your answers using the zero function on your
caleulator.
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Day 2: Factoring when a # 1 (Busting the "B")

What if the problem has “a” value that is not equal to 17

For example, 4x2 +8x+3=0

How can we algebraically find where this graph = 07

The concept of un-distributing is still the same!!
2
4x°+8x+3=0

in this case we need to find out what multipliestogiveus @ * & but adds to give us b.

Let’s list all the factors of 4 - 3 or 12:
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Which one of those sets of factors of 12 also add to give us the b value, 8? a.@ (fﬁ:’

Rewrite the original equation using an equivalent structure:
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Day 2 Practice - Solve the Quadratics ‘Di‘i%ijr r}:))
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